Unknown Symbols in Equations (A)

Name: Date:

Determine the value of each symbol.

6=e—=>-6 9=9+-1

8+8= * =147
8=232-+14 U6 =2

3+-v=1 56 -6 =7
5=30+X< 24 - =28
72 -2 =8 O=12+6
32+ ® =4 O =408
18 +-§=3 ®=42+6
=567 £ =10-+5
10 -5=A h—24-38
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Unknown Symbols in Equations (A) Answers

Name:
6=e=-6
e — 36
8+-8=
J[:
8:32%h
b:
3=-v=1
v=3
5=30+/
£ =
72 -2 =8
—
32+-=4
® =8
18 +-§ =
§ =16
& =567
% =3
10=-5=A
A\ =

Date:

Determine the value of each symbol.

9=9-+-1
-1

* =147
* =2
U-=6=2
U=12

56 -¢=7
‘:

24 -P =8
b =3
O=12=6
QQ:
=40+ 8
Q:

O =426
©=7
f=10-+5
ﬁ:
h=—24=:-8
h=3
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